
CAIRNGORMS NATIONAL PARK AUTHORITY
Planning Committee Agenda Item 6 Appendix 1 20/04/2018

AGENDA ITEM 6

APPENDIX 1

2018/0048/DET

PLANS



Plan #1159855

 2
79

70
0

 2
79

80
0

 2
79

90
0

 2
80

00
0

 2
80

10
0

 2
80

20
0

 2
80

30
0

 2
80

40
0

 802900

 803000

 803100

 803200

 803300

 803400

 803500

 803600

 803700

N

S

EW

This Plan includes the following Licensed Data: Plans Ahead PDF Printed Plan OS VectorMap Local Raster by the Ordnance Survey National Geographic
Database and incorporating surveyed revision available at the date of production. Reproduction in whole or in part is prohibited without the prior permission of
Ordnance Survey. The representation of a road, track or path is no evidence of a right of way. The representation of features, as lines is no evidence of a
property boundary. © Crown copyright and database rights, 2017. Ordnance Survey 0100031673

Prepared by: Adele Ellis, 23-11-2017

0m 50m 100m 150m 200m 250m 300m 350m 400m

Scale: 1:2500, paper size: A2

Adele
Rectangle

Adele
Typewriter
CROFTCARNOCH, KINGUSSIE, INVERNESSHIRE, PH21 1LU

Adele
Line

Adele
Line

Adele
Typewriter
22m

Adele
Typewriter
9m

Adele
Arrow

Adele
Arrow

Adele
Line

Adele
Typewriter
PROPOSED SOLAR PANEL ARRAY

Adele
Typewriter
INSTALLATION OF UP TO 24KW OF FREESTANDING
SOLAR PV ARRAY.

aeass
Line

aeass
Line



xmin = 275700
Projection = OSGB36

DESIGNATIONS

ymin = 801500
xmax = 282800
ymax = 805000

Legend
National Nature Reserves
(Scotland)
Ramsar Sites (Scotland)
Sites of Special Scientific Interest
(Scotland)
Special Protection Areas
(Scotland)
Biosphere Reserves (Scotland)

Copyright resides with the data suppliers and the map 
must not be reproduced without their permission. Some 
information in MAGIC is a snapshot of the information 
that is being maintained or continually updated by the 
originating organisation. Please refer to the metadata for 
details as information may be illustrative or representative 
rather than definitive at this stage.                             

Map produced by MAGIC on 19 December, 2017.

(c) Crown Copyright and database rights 2017. Ordnance Survey 100022861.

0 0.25 0.5
km

0 0.3 5 0.7

km

Adele
Rectangle

Adele
Rectangle

Adele
Rectangle

Adele
Typewriter
0

Adele
Typewriter
1km

Adele
Typewriter
SCALE 1:20,000 @ A3

Adele
Oval

Adele
Oval

Adele
Typewriter
DEVELOPMENT AREA

Adele
Typewriter



ANSICHT 1 ( 1 : 20 )

A ( 1 : 50 )

SCHNITT B-B ( 1 : 20 )

DETAIL D ( 1 : 10 )

DETAIL E ( 1 : 10 )
DETAIL G ( 1 : 10 )

DETAIL F ( 1 : 10 )

DETAIL H ( 1 : 10 )

SCHNITT C-C ( 1 : 20 )

1

1

2

2

3

3

4

4

A A

B B

C C

D D

A

B B

D

E

G F

H

C

C
1 
A2 

Status Änderungen Datum Name

Gezeichnet

Kontrolliert

Norm

Datum Name

08.08.2013 Fran.Al

Material: Maßstab:

Speicherpfad:

 

Artikelnummer:

Bezeichnung/Projekt/Kommentar:

 
Zulieferer:

Kunde: Information:

Vorgangsnummer: Information:
  

 
 

 

Toleranzangaben: Projektionsmethode:

Konstruktionsstatus:

 

 

 

 

1:20

Oberflächenangabe:

 

Werkzeugnummer:

Dichte:

Bereich:

Gewicht/Kg: Kg/m:

Volumen:

-

-

- -

 

 

Besonderheiten:

 

01

02

03

04

Teileliste
LängeBEZEICHNUNGBAUTEILNUMMERANZAHLOBJEKT

1273 mmPVMax3 Strebe 55x55 vorne Masszuschnitt000011-12631
2246 mmPVMax3 Strebe 55x55 diagonal Masszuschnitt000011-12732
2069 mmPVMax3 Strebe 55x55 hinten Masszuschnitt000011-12833
4697 mmModultragprofil S1,5 - Masszuschnitt124303-00144
3500 mmModultragprofil S1,5 - Masszuschnitt124303-00145
2860 mmBinderprofil BF0 - Masszuschnitt124500-00136
 KlickIn Einklickbaustein fuer Mutter M10129010-001727
495 mmVerbinder fuer Modultragprofil S1,5129303-00148
 Montagekralle 80mm146001-000249
 Fussprofil PVMax3 vorne147003-001310
 Fussprofil PVMax3 hinten147003-002311
 Gelenkverbinder vorne PVMax3147004-001312
 Gelenkverbinder hinten PVMax3147004-002313
 Fusskralle PVMax3147005-0002714
 Unterlage fuer Fussprofil PVMax3 EPDM147006-000615
 Schraube M10x25 6-kant DIN933 A2 GMB943610-0257216
 Schraube M12x80 6-kant DIN931 A2 GMB943612-080917
 Schraube M12x100 6-kant DIN931 A2 GMB943612-100918
 Schraube 5,5x25 selbstfurchend JT3-6 A2943755-925819
 Flanschmutter M12 Sperrverza DIN6923 A4943912-0121820
 Mutter M10 4Kant DIN557 A4943914-0107221

1099 3000

12
33

2306

20
78

1702

13

17

9

11

14

2
3

12

21

18

1

20 45

6

8

10 15

7

401

11
13

50

1049

1720

2719

2860

356

3000 1099

8197

11
9

34
1

3
41

1086 2050 265

40
0

80
0

3400

25
°

23
21

380

3500 4697

16

19

PM2V-25°-8_NR






	FrontCover.pdf
	20180048DETCroftcarnochApp1(a)LocationPlan.pdf
	20180048DETCroftcarnochApp1(b)Designations.pdf
	20180048DETCroftcarnochApp1(c)SectionDetails.pdf
	20180048DETCroftcarnochApp1(d)SiteLayoutPlan.pdf
	20180048DETCroftcarnochApp1(e)LandscapingPlan.pdf

